ID:1210 P- 1

P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% 4 Fn054£03 7 16 H eI Dt e/ 82 kv (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
IENE w5 10. 00 | #H%F 302 3,020| 2,160| 1,840 648
B 32 £ IH 15. 00| FA % 600 9,000| 2,160 1, 760 1, 663
X 5D oOJ#E 12. 00| AH%F 427 5,124| 1,080 650 378
F 9 NAE w5 4. 00| FH%f 58 232| 1,836 1,791 1,512
H % i 3. 00| FHxf 339 1,017| 1,188 848 540
i A ] 1L 1. 00| FHxf 250 250 432 417 324
= 1| 500 fxt| 20| 00| 2,376| 2,066 1,620
A w5 2. 00 | FH %t 266 532 756 691 486
EEL w5 4. 00| fHxf 154 616 1,512| 1,217| 1,080
[ I\ w5 5. 00| FH%f 1, 404 7,020 1,890 1,473 1,080
~7 b~ b = 3. 00| FH*} 28 84| 1,782 1,774 1,566
IR Ak L 2. 00| FHxf 25 50| 2,808 2,026 864
H % (i 5. 00| FHxf 53 265 1,836| 1,644| 1,404
SEE VR 10. 00| AH % 21 210 1, 836
A—=T 4 AbiEiE 10. 00| AHxf 67 670 540
B OF g, 10. 00| AHxf 112 1,120 2,484| 1,926| 1,512
£ A b 20. 00 | #H 5%} 33 660| 2,484| 2,432 2,052
o | 10000\ fxk| 257 2,570| 2,484| 2,053 756
LA A o 10. 00 | #85f 702 7,020 2,484| 1,823 1,080
P=—lH A & ] 4. 00| FHxf 845 3,380 1,512 873 594
Tuyal— (r— 6. 00 | FHxf 255 1,530 2,484| 1,605 864
= 1| 6.00| Fxt| 1 o] 6o | 20,160
AEHEE w5 0. 10| #H%f | 2,900 290 151 107 65
ZDXH E % 0. 20 | FH %} 780 156 76 51 27
LU 5 % 0. 20| FA%F 270 54 81 64 27




ID:1210 pP- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz 4 Fn054£03 7 16 H EFER S 22 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

HEAM JEE I 10. 00 | #H%F 5 50 2, 484

5 U H & 10. 00| FA % 127 1,270 3,456 2,706| 2,322

AVavE 7 4 U ¥ | 13.00] fHxf 12 156 2,916| 2,781| 2,646

T AT E— = B 0. 25| FH%f 784 196 302 271 173

HEBR D & ] 0. 27 | ¥} 5,277 1,426 486 430 324

S X EF I 0.25( fHxt [ 11,264 2, 822 464 351 216

RIHD Y S ) 0. 25| FH*F 8,121 2,031 356 310 184




